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(vi) YT G & J97 &1 6 & 15 di7-T7 bl & J97 & | 37 I TTHT 50 Isq]

yE 37 & S . '
(vii) YT § 3 ¥97 G&IT 16 & 21 Yi9-9ie 3% & 97 & | 399 I TIYT 70 55
E § 378 |
(viii) 9T T 3 F97 GEIT 22 @ 27 FINTIHS BT T STERG §1-31 3 & 397 & |
§7% TIeT I §7 & |

General Instructions :

(1) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.

(iti) Internal choice is given in Sections B, C, D and E.

(iv) Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

(viii) Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

T 3
SECTION A
1. IR TR R A GUE0 § Heg g A1l hl I R | 1

Write two advantages associated with water harvesting at the
community level.

2.  dieeHiet 1 gfauy = g =g st 3= 2 wrwr A | 1

Should the resistance of a voltmeter be low or high ? Give reason.
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qT
SECTION B
3. A SRR I soideq-farg TteAr Eifuu i sEe o1 H e 3R
SRS o s 3TeFY <l Tepfd foafe | 2
reraT

Sesh o [T N1 d BT hIa o 39l UIEHT hl Tt sH13Y e HRor gaR
IR AR fowrTer S § whreq o A fo@rs 2d § | 2
Draw electron dot structure of carbon dioxide and write the nature of
bonding between carbon and oxygen in its molecule.

OR

List two properties of carbon which lead to the huge number of carbon
compounds we see around us, giving reason for each.

4.  FR0 G
(a) TIhuU o THY FEHE N THES TAEHT i TH: FEST § qRdfad
fepan ST R |
(b) VI Tcu-a @fsha o1g &; T off 38 a1g 1 WIS UM o Sl Bl
I ¥ faeqa 3w B 7 | 2

Give reason :

(a) Carbonate and sulphide ores are usually converted into oxides
during the process of extraction.

(b)  Aluminium is a highly reactive metal; still it is widely used in
making cooking utensils.

5.  Torell oim <l &l +5 S8 2 | 36 < ol Tehld 3N Hishd gt F1 8 2 39
g o forell form 1 forct g W @1 SU d@ifer 31 9H @1 1 3o
gfdfers ST &l 2 2
The power of a lens is +5 diopters. What is the nature and focal length of

this lens ? At what distance from this lens should an object be placed so
as to get its inverted image of the same size ?

e
SECTION C

6. THAl § I G % &I TN ohl I SHTST a0 598 & forell b & &l foafew | 3

List two types of the transport system in human beings and write the
functions of any one of these.

317212 s e P.T.O.
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7. T AR Fved o o= faved Fifse | et o0 # fvea o T SR 3IdTg
1 3g@ T | 3

Distinguish between pollination and fertilisation. Mention the site and
the product of fertilisation in a flower.

8.  ITIcESH fohH had & 2 38 @l Y Ry | 3

AT
(a) TR0 fohe gd & ? 91Ul o [oTC 98 1 HATE9IH & ?
(b)  TAMIRUT o HerRea®d UIegdl H 9gref gl Jgad & ? 3
What is transpiration ? List its two functions.
OR

(a)  What is translocation ? Why is it essential for plants ?
(b)  Where do the substances in plants reach as a result of translocation ?

9. I3 B & el U0 1 37 &9 H ThST g1 7, U 5 Wedh I3 H
T I TR HISAT g | 3Hoh I 98 YA TS i GUUT o {Hehe T TS
<1 3ffe W USaT B | 3
(a)  hIT ol A o T IH AT HEAT FMEY 2
(b) 3Gk T Tohd TR hT QYT T ?
(c) 1 98 38 ThamhaM g1 36 gUUl ol Hidehe Bihd gl Muiid
TR ? 39 T § 370 I I Gfse RO gt R TR FoRtor 3@
Hiuet Fifse |
srera

10 cm ST g I 12 cm BIhT gt & fohefl 3T < & J&I 31 & Araaq.
W@ g | oE o gl 18 em @ | I ATel Wiafa & wephd, feufa ek

TS AT hIIT | 3
A student holding a mirror in his hand, directed the reflecting surface of

the mirror towards the Sun. He then directed the reflected light on to a
sheet of paper held close to the mirror.

(a)  What should he do to burn the paper ?
(b)  Which type of mirror does he have ?

(c) Will he be able to determine the approximate value of focal length
of this mirror from this activity ? Give reason and draw ray
diagram to justify your answer in this case.

OR

A 10 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 12 cm. The distance of the object from the lens
is 18 cm. Find the nature, position and size of the image formed.

10. SaTedt 3991 o IR % o GFiEweE g S IRt sy | fafie St
HIAl G & Tl YGHUT %1 A LA o dIH 3U GI3T | 3

List three environmental consequences of using fossil fuels. Suggest three
steps to minimise the pollution caused by various energy sources.
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11. Yl o dTgATSH % FU T H AWH GRT HUIed HATawesh % e | I8
fr8 TR S 7 2 STgEvEA | A ol U § fiee o fou Soerht avafya
AT 1 9 fARGT | 39 WA & ST | ohE TehR T shi ST Eehdl & 2 3

Write the essential function performed by ozone at the higher levels of
the Earth’s atmosphere ? How is it produced ? Name the synthetic
chemicals mainly responsible for the drop of amount of ozone in the

atmosphere. How can the use of these chemicals be reduced ?

12. (a) T8l 37 I TIhd Hd G9T I8 TIIET HT hl A & Th 37
S ° e =nfae 7 6 St i o | 2
(b) Ih TESOH FANEES NG Ik ffemd ox & T § HIE qiadq el
HTA | FA 2 3
AT
T T Hfam gsgiadTss fohl TR SR STaT 8 2 39 Ufshan o1 4W fafay |
39 UfshaT § IUICUTE o &9 H His 19 X 1 8 | I8 19 I & S 9 Affsha
ek his Jlfeh Y 9T 7, SEent 3w WRE a1 foie wHe & ®9 d
foram ST B | X SR Y I ygETNU dun g arefl SAfufshatsn o wEmfie
FffeRtor fafan | 3

(a)  While diluting an acid, why is it recommended that the acid should
be added to water and not water to the acid ?
(b)  Dry hydrogen chloride gas does not change the colour of dry litmus
paper. Why ?
OR

How is sodium hydroxide manufactured in industries ? Name the process.
In this process a gas X is formed as by-product. This gas reacts with lime
water to give a compound Y, which is used as a bleaching agent in the
chemical industry. Identify X and Y and write the chemical equation of
the reactions involved.

13. I Tl H HR (1) T8¢ o e T o O Bl T Hd T HIAT HIA
TS, O qAT HIs Y T X ol 7 | 3
(a) 39 AMTHAT o JhR AR T X ! I8N |
(b) TSR 1 Hgfetd TEMHS THRU iy |
(¢) T8 X g faered &1 pH wiE fafaw |

317212 ErEer P.T.O.
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On heating blue coloured powder of copper (II) nitrate in a boiling tube,
black copper oxide, Og and a brown gas X is formed.

(a)  Identify the type of reaction and the gas X.

(b)  Write balanced chemical equation of the reaction.

(c) Write the pH range of aqueous solution of the gas X.

14. T Aifienl 1 (@) Yoo, (1) Tesh 3T (iii) Tewhlsd ed & ? C4Hy T8 &
forare wafya 2 2 39 Ak o Q TS e Gif | 3
Which compounds are called (i) alkanes, (ii) alkenes and (iii) alkynes ?
C4H{ belongs to which of these ? Draw two structural isomers of this
compound.

15. 39yl AaEsS F1 B & ? Th 3G G | 310 I i g & Toag
gqfera Tamafes aefietr fafey | 3

What are amphoteric oxides ? Give an example. Write balanced chemical
equations to justify your answer.
T g
SECTION D
16. (a) UWE IR IHTE A0 FT B @ ?
(b)  “F Tg TWT B foh IS T ST A1 B AT W] A i A R

T g UTe 2”7 foRet I IaTET hi gt 39 e hi gfee HIfT | 5
(a)  What are dominant and recessive traits ?
(b)  “Is it possible that a trait is inherited but may not be expressed in
the next generation ?” Give a suitable example to justify this
statement.

17. (a) STASHIH THh 1 ITANT H{d hHI TATE F1 & Al 8 ? FAR HSH H
JTRATEH hl HHT o SRV FH ATeT T T AH 3T ITRT T A& IR |

(b) TR YRR H TR e FohE FehR TTHH ohd & ? SATET i | 5
HAAT

SAad fohdl ®Ed & ? 38 UREST Wl MeRid ® & o frefl y=m &

fiyeheuT I | 5

(a)  Why is the use of iodised salt advisable ? Name the disease caused
due to deficiency of iodine in our diet and state its one symptom.
(b)  How do nerve impulses travel in the body ? Explain.
OR
What is hydrotropism ? Design an experiment to demonstrate this
phenomenon.

18. (a) Tl s < ggrar @ 319 I8 fsed forg yenr faemrein fop forelt Qb
ﬁéﬂﬁg!%ﬁ%@%#ﬁaﬁ%wg%mmﬁww
snauléa ?
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(b) = fer U gy W R Fifve i gfuy & s< ga ) foafa 9@
gy ¥ garfad 9 3R 15 Q & ity & i | faverm s e |1 5

o_T
|
-~
~

AT

(a) o UfaUEs Ry, Ry 31 Rg URdshd | WA 8 q91 I8 & fopedt
Scft, enfier, deeHier i Hofl @ T B | 3uged UiuY 3Tm@
Hifau i gfatigent & TFeH & o Jfaiy & fore =gt ured shifsre |

(b) = feu T Feaeh w1 o ghatiy afiesfera ST - 5
20 Q
10 Q Y
A —A— — B
WW
20 Q

(a) How will you infer with the help of an experiment that the same
current flows through every part of a circuit containing three
resistors in series connected to a battery ?

(b)  Consider the given circuit and find the current flowing in the
circuit and potential difference across the 15 Q resistor when the
circuit is closed.

5Q 10 Q 15 Q

A VWV A%
+| —

| (.)

|}‘|| \*/
30V

317272 it om0 P.T.0.
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(a)  Three resistors R;, Ro and Rg are connected in parallel and the
combination is connected to a battery, ammeter, voltmeter and
key. Draw suitable circuit diagram and obtain an expression for
the equivalent resistance of the combination of the resistors.

(b)  Calculate the equivalent resistance of the following network :

20 Q
10 Q VWV

A —AA—] B
VAV
20 Q

19. foreft &fcs weae ¥ Treaq Tod fopet g grrardl ateis % HRU 3=
e 89 T W 4ol Wit | afeiEe s fem fafan st sEE
ST &= {@ratt 6t feon siferd & # HIVT | 39 HiY =@s 8 @ I° W
fopelt farg W, W8T grechi@ & Maiia foran ST 2, grechia & <l disrar o
fhd TehT UREaH BIAT 3 ? 3194 IT i gfse & fotu ot i | 5
Draw the pattern of magnetic field lines produced around a current
carrying straight conductor passing perpendicularly through a horizontal
cardboard. State and apply right-hand thumb rule to mark the direction
of the field lines. How will the strength of the magnetic field change when

the point where magnetic field is to be determined is moved away from
the straight conductor ? Give reason to justify your answer.

20. (a) TN H YU FohE Hed § ? S Hhifae fop yehifofa weerer =1 a1 form
TehT JehIU hid dTet UMt o A1ew T el htar 2 |
(b) AT R AT & THY FF & AW Tdd 8 ohl ST T |
QUL % U IE AT (T I Tfid &l grar ? 5
(a) What is scattering of light ? Explain how the colour of the
scattered light depends on the size of the scattering particles.

(b)  Explain the reddish appearance of the Sun at sunrise or sunset.
Why does it not appear red at noon ?

21. (a) I & e o H A S aret TRl A et i g sIET |
(b) MY 3TTad ARER H,
(i)  Tordlt otred ® 9 ® ¢ IH W,
(i)  Torelt T9g (FU) ®# IR ¥ = IH
el o Yifeash Q& 8 fohg Tehr o= grar & 2
9 I o T SHrwr A | 5
FAUar
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IR aw&l A, B, C 3R D o WA § geiareial ol oA <hish § foraior 39 YR 3
o5 37 Il < STRIAH I A SAFHT Shl TEAT HANM: 1, 3, 5 3N 77 | Y
Ed Rt § $ awal hl g (Y9) @ fafgu | B 3R D qwAIR i @
FoFieh fo=amE qen B 3t D & TN & o4 Afies w1 amfvess g3 fafm | 5

(a) List any three observations which posed a challenge to
Mendeleev’s Periodic Law.

(b)  How does the metallic character of elements vary on moving from
1) left to right in a period,
(i1)  from top to bottom in a group
of the Modern Periodic Table ?
Give reason for your answer.

OR

The electrons in the atoms of four elements A, B, C and D are distributed
in three shells having 1, 3, 5 and 7 electrons respectively in their
outermost shells. Write the group numbers in which these elements are
placed in the Modern Periodic Table. Write the electronic configuration of
the atoms of B and D and the molecular formula of the compound formed
when B and D combine.

T

SECTION E
22, 34 faEme™ Y yATET | T T YA e o fo forelt u<ht & T @
IR ATIY IR Hd guF fopel B g sieft I arelt IR Eraen i
il s | 2
List four precautions which a student should observe while preparing a
temporary mount of a leaf peel to show stomata in his school laboratory.

23. foaorasht <fiSii 1 7@ T < TR =N I HHAR T T | 2
teran

T YEASI hi I o H Tohet TR TATSE T TV i o qvarq ohe
BE 3 I8 Trwnd Femren for & 2 s | fordft uehenifves Sfg ® fg-wvea &
faftrer =71 3T U @ | 39 @ Yeqn ol fafgu e smum W udr fsed

fehTeT ST HohdT 2 | 2

List in proper sequence four steps of obtaining germinating dicot seeds.
OR

After examining a prepared slide under the high power of a compound

microscope, a student concludes that the given slide shows the various

stages of binary fission in a unicellular organism. Write two observations

on the basis of which such a conclusion may be drawn.

317212 i e P.T.O.
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24.

25.

forelt ufay & 92 ufalias @ yarfea amr iR 3as Bl W faverm oma |
e fiefterfie it ateerfier grT guIfT 7T qTe=ishi % TR 2

(a) 3 Hiel o 3TcUdHich o1 3 ?
(b)  Afa0yss 1 Yfq0y ferar 8 2
200 2

100 300 M

mA \Y
The current flowing through a resistor connected in a circuit and the
potential difference developed across its ends are as shown in the
diagram by milliammeter and voltmeter readings respectively :

(a) What are the least counts of these meters ?
(b) What is the resistance of the resistor ?
200 2

100 300 W

mA Vv

i hl ATIATHR Ufgeht (TA) o fohelt Uk heteh | I 45° % IV G YA
T el IH TR T 99 SRRad HINT | 39 M@ W (1) AU hiv,
(ii) forfa =i 3T (jii) uTfedes fazemum Sifera Hifsre | 2
AT
IS BE M@ W MC AR forelt e & 5T A o arelt yeprer fomeor 1
U STRAGA LT 2, T 30 TG I MW BIS <l 7 3 38 AHifha oft T
AT | 39 IN@ I GERI Wit U HIC qA1 38 T i, Le, Lr AR /D #ff
3fera HIfST | 2
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Draw the path of a ray of light when it enters one of the faces of a glass
slab at an angle of nearly 45°. Label on it (i) angle of refraction, (ii) angle
of emergence and (iii) lateral displacement.

OR
A student traces the path of a ray of light through a glass prism as shown
in the diagram, but leaves it incomplete and unlabelled. Redraw and
complete the diagram. Also label on it /i, Ze, Zr and £D.

26. Thel TEAe # 2 mL UHICH TFa ookl 3UH Teh geehl AITSIH BIZGINH
HeHe e W = Yo fhe Sid @ 2 39 YRl H B dret STfufshar
T gt fafEu | 2

What is observed when a pinch of sodium hydrogen carbonate is added to
2 mL of acetic acid taken in a test tube ? Write chemical equation for the
reaction involved in this case.

27. Toreht freres 3 forrmer 1 RN @ BT *1 UEHifEE ovd, W@, Hig @ M,
Tifsam gEgieA HEHe 3R Afsan gEgidass & o foaerm fou o pH
g 3 Ueiel % pH W T1d i o fote gt | foreft ® 3 39 verei & pH A
HUM: 3, 12, 4, 8 3R 14 @ | T70 F FH-T 77 T TE ¥ 2 IO W 7
39! T&l O fafgu | 2

HAAT

IR SR T TRRA Hethe ol el 1 faereq W 8 S g9 shaeT: egfafem,
HR, JAH W S Hl welivifa W= Hl T8 ufal Wt T8 & |
30 fire & uvarg 18 S AU w1 Yo7 forem 2 2

A teacher provided acetic acid, water, lemon juice, aqueous solution of
sodium hydrogen carbonate and sodium hydroxide to students in the
school laboratory to determine the pH values of these substances using
pH papers. One of the students reported the pH values of the given
substances as 3, 12, 4, 8 and 14 respectively. Which one of these values is
not correct ? Write its correct value stating the reason.

OR
What would a student report nearly after 30 minutes of placing duly

cleaned strips of aluminium, copper, iron and zinc in freshly prepared
iron sulphate solution taken in four beakers ?

31/212 Err e
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